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4. (6) The graph shows a plot of the acceleration of car versus time. If the velocity of the car at t =0 is 5 m/s,
what is its velocity at t = 6 sec?
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5. (5) Let vector A be the vector from Boston to Montreal. Let B be the vector from Montreal to New York.
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Let C be the vector from New York to Boston. Which is true’ g M-—:z—- vy }? \E ¥
~~¢ A M E- NY
(i) C=B-A (v) none of the above
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6. (12) The graph shows a plot of Z-position versus time of a mass on a spring.

(a) The z-velocity is zero at (more than one answer may

apply — circle ALL correct answers for full credit):
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7. (6) A sailboat originally moving with velocity 3 %2 +2 %3 undergoes a constant acceleration —2 f;";f +15 3
for 2 seconds. What is the speed of the boat at the end of the two seconds?
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